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1. .When the velocity of a body is reduced to half its initial value, then the kinetic energy of the

body is reduced by ------its value. ..

(C) 1
5

(A) 1
3 ~~

(D) 1
2

Vl@ QUIT@efl6Oi ~Ql6CQJe;lDITQTl9I <!9IjD6Oi QP)b6>ljDlU .lD~U~Ell .@@)b19l UIT~lUlTe; @)6>llD8;e;UULLITEll.

<!9IuQulT@efl6Oi @lU6;e; <!%bIDlDEll"')bjD <!9IQT6!SlID@)@)QllDlLjLb? .

(A)

(C)

1
3

1
5

_ (B) 1-
4

(D) 1,
2

2. Match List I with List II :

L~st I List II

(a) Coulomb's law 1. Magnetic flux
(b) Gauss law 2. Magnetic force
(c) Lorentz's law 3. Electric flux
(d) Faraday's law 4. Electrostatic force

(a) (b) (c) (d)
(A) 3 4 1 2
(B) 2 . 1 4 3

ver" 4 3 2 1.

(D) l' 2 3 4

UL"l-lUEll I1BuL"l-lUQl I1lLL6Oi QUIT@~e;

UL"l-lUQlI UL"l-lUQl II

"(a) 8ll.@?JLb6!Sl~ 1. e;1T)bjDUlTlUlD~U~

(b) e;ITQo 6!Sl~ 2. e;1T)bp;6!SllUQl6!SlQlIf

(c) QQllTljomLQo 6!Sl~ 3. iDl6Oi~Ql~~6Oi QlDlT~jD UlTlU lD~U~

(d) :.U ITljrrGL 6!Sl~ 4. )£l6>lQl iDl60iaff1lUQl 6!Sl6>l1f

(a) (b) (c) (d)

(A) 3 4 1 2
(B) 2 1 4 3
(C) 4 3 2 1
(D) 1 2 3 4
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•
3. Match List I with List II and select the correct answer using the codes given below the lists:

.
List I List II

pH
(a) Distilled water l. 8.5
(b) • Vinegar solution 2~ 7.3
(c) Bar soap solution. 3. 7.0
(d) Human blood 4. 2.9

(d)
1
1
3
2

, , (c)

4
'2
4
1

(b)
3
3
1
4

(a)
(A) 2
(B) 4
(C) 2

\Pi 3

UL"l-wGil I "-L6irr uL"l-w6O IImu QUITC'9~~. UL"l-wGil"'~8;@)8; !GlP ,,-m6!T QiOIT@)uL5161SlC'9!511)1"ITIwITrn
Gl5l6OlLu516Olrn~QiOITI6l1Q"LiJ.... . , ,

wL"l-wGilI UL"l-wGilII
pH

(a) QJ IT6OlQ)QJ Qj\ ib rT l. 8.5

(b) Gl5l6llll"'rT"'6Ol1)'''6O 2, 7.3'
(c) UITrTG"ITU"'6Ol1)'''6O 3. 7.0
(d) LD6llIIiO@)C'9~ 4. 2.9

(a) (b) (c) (d)
(A) " 2 3 4 1
(B) 4 3 2' 1
(C) 2 1 4 .3
CD) 3 4 1 2

4. ' The amount of copper and gold that is denoted on 916 ornamental gold is
(A) 5 gm copper/24 gm gold

~ 2 gm copper/ 22 gm gold
(C) 2 gm'copper/ 24 gm g;old
(D) 16 gill copper/ 24 gm gold

)!i60l",.••m Q"LiJQJ ~ 60 916 '" rn @)JD1uL5IQj\ Lb Gu IT11)1 iO ITuSll)'~~ 6irr ~ 6!T6l1Lb/ iO niJ.••~~ 6irr ~ 6!T6l1Lb
------ Gl5lffi1iO~~6O@C'98;ffi1!DI1)I'
(A) 5 gmiOITuSll)'Lb/24 gm iOniJ",Lb
(B) 2 gm iOITuSll)'Lb/22 gm iOniJ",Lb
(C) 2 gm iOITuSll)'Lb/24 gm iOniJ.••Lb '
(D) 16 gm iOITuSll)'Lb/24 gm iOniJ.••Lb
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I 5. Match List I with List II and select the correct answ~r using the codes given below the lists
I

List I List III

i
~ (a) Chloroplast 1. Kreb's cycle

(b) Ribosome 2. Autolysis

(c) Lysosome 3. Protein synthesis

(d) Mitochondria . 4. Photosynthesis

.
(a) (b) (c) (d)

\)Iff 4 3 2 1

(B) 2 3. 4 1

(C) 3 4 1 2 •(D) 4 1 2 3

Q.Jrfl""lf I I>..Lm Q.Jrfl""lf II6'OlQTU QUIT@~~ Q.Jrfl""If<J;I5Ii;@j8; £19 Q8m(!)lli;a;u UL~.n6lT @jJDluSL(!)l~

QlblT@jul51Q\1@P;i9JIfrflUJITQT6lSl""Lu5l""QT~ Qlbrfl6l.j QlftUa;.

Q.Jrfl6'Ol1fI Q.Jrfl6'Ol1fII

(a) @jC6lTrrC~ITU6lTITGiuL 1. $l~u e;~JD6I

(b) ",,~CurrC8mo' 2. ~LCLIT""Q)61Giu

(c) ""Q)ClfrrClflTtD 3. LW1b6ClfITIi;""a;

(d) 6'OlLDLCLITa;IT.Llq.rflUJIT . 4. Vl61Tl6CIfIT8;""a;

(a) (b) (c) (d)

(A) 4 3 2 1

(B) 2 3 4 1

(C) 3 A 1 2 ,

(D) 4 1 2 3

~
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6. Which organ is called as the Graveyard ofRed BloodCell?

(A) Liver (B) Kidney

\)li'f. Spleen (D) Gall bladder

<Or)ii:'E"- IDIU Lj ~ IJ~:'E 81QJU u@II8;ffi6!T16irr ffi6iJ6\)"'!D <Or6irrIDI~.., ~ 8;ffiU U 0 .$\ !D~J?

(A) ffi6iJ6DIJ6iJ (B) 81ID1)BlJffiU>

(C) LD6O'oT615of1J6iJ (D) L51~:'Eu",u

•
7. Alpha cells of Islets of Langerhans secrete

~ Glucagon

(C) Somatostatin

(A)@i~8;ffiffirr6irr

(C) C::lmC::LDC::LrroiuC::Ll:...Lq-6irr

(B) Insulin

(D) Calcitonin

(B) ~6irrffiQ\16irr

(D) ffirr6iJ81C::L'rr6lll16irr

8, What is the name given to the massive rescue and relief operation launched by Indian Army

in Nepal?

(A) Operation Sev,a \)Ilf!Operation Maitri

(C) Operation Nepal (D) Operation India.

C::!Durrm~~6iJ ~)ii~LU ~lJrr@llQJU> C::LOrDQffirr6O'oTLtl'lLLj LOrDIDIU>~QJrrlJ-u uOO1u51615Ti9IQULUIT <Or6irr615T?

(A) Operation Seva (B) Operation Maitri

(C) Operation Nepal (D) Operation India

9, ------ was honoured with Dada Saheb Phalke Film Foundation Award 2015.

V Shashi Kapoor (B) Nirbhay Sharma

(C) Omar Abdullah (D) A.B.Vajpayee

.2015 ~U> ~6O'oT0:'Err:'Err ,mC::ffiu urr6iJC::ffi ~"'IJUUL ~Lq-~:'Em~~rDffirr615T 6>S1(!lji91

QJ~ffiJffiUULLi9I.

(A) If~ ffibJ,IT

(C) "-LOIT ~Ui9I6iJ6\)rr

MCHGS/15 6
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10. Name the search Engine which launched its flight ~.earching tool in-India.

(A) Yahoo ~ Google

(C) Bing (D) AOL

~)i;~ tLJrr615lGil615lLDrr~~QlIOa;Q;.,.LfDl'4 tb a;Q!j615lQltLJ6T)i;1O~LGil Qu rr!DI&1161CY'a;u u G!~!bluJi9I?

(A) Yahoo

(C) Bing

(B) Google

(D) AOL

.
11. Which among the following places doesn't have Indian Institute of Technology.(IIT)?

(A) Jodhpur

\? Ahmedabad

£GW Qa;rrG!8;a;uuLG!Gir.rr ~L1fua;.rrlGil

<9I6"OlLD8;a;uuL615lGilQl~?

.(A) G51rr~!,j,n-

(C). <9I!l1IDLDlOrrurr~

(B) Kanpur

(D) Delhi

6Trfu@j ~)i;!bltLJ QlOrrWlGil 19I.LU8; a;wa;tb

(B) a;rr6irr!,j,n-.

(D) QLGilQSl'.

12. .. TROPEX - 2015 is associated with

(A) Indian Army (B) Indian Border Security force

(C) . Indian Ai~force ~Indian Navy

TROPEX"':.2015 6T6irrU~ ~P;~L6ilT QibrrLn-Y~Llu~

(A) ~)i;!bltLJ~ IOQlIJUUQlL

(C) ~)i;!bltLJ 615lLDrr~UUQlL

(B) ~)i;~tLJ 6TGilQl'l)U urr~a;rruyuU6"OlL

(D) ~)i;~tLJ a;LlDu6"OlL

13. . Name the country which. did not observe 'Internat~onal Yo~a day' celebrated on
June 21, 2015

(A) Pakistan

(C) Sri Lanka

.~Yemen

(D) Afghamstan

(A). urr.$1~ibrr6irr

(C) ~Q)rfua;rr

(B) GJLD6irr

.(D) .~ua;rr6Ofl~lOrr6irr .
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15.

•
Which of the following has been declared as India's 48th Tiger Reserve?

(A) Corbette Tiger Reserve, Uttarakand ~ Rajaji National Park, Uttarakand'

(C). Sundarbans, West Bengal (D) Kalakkad, Tamil Nadu
.

.$~ffi8idnru;u rDWGir~)5~ WfTGlS16bT486lJi!jILj61518iGir8'~'-fT6\lWLDfT8i~JD1GlS1ffi8iuUL.Li!jI6fi!jI?

(A) "fTrTQUL.Lj61518iGir8'~'-fT6\lWLO."--~i!i~8ifTdnrL(B) ~fT1!5fT!JllGi!iiF1wld>rfuiJifT.!L~M8ifTdnrL

(C) ")5i!irTu6bT.GLDrD@i6lJrfu8iLO (D) 8i6\lffi8ifTGi.i!iuSl~l5fTGi

Who was appointed as the director of ISRO Satellite Centre, Bengaluru in April2015?

(A) "8ivathanll Pillai (B) Dr. Abdul Kalam

't?f' Mayilsamy Annadurai (D) CNR Rao

QUrfu8i~(I1j ~Ji;~w GlS1dnrQ6lJG1f1~~fTuJ",81 )£lW6lJ615TLOQ8'WrD6!"l8;G8ifTGir6!"lLDW~~6bT,~wffi@i615T~fT"qu~Gil'
2015-Gil WfTrT)£lwuSlffi8iuULLfTrT?

1
.1

i. ,

(A) iF16lJi!ifTWit51Gir6!"lffi

(C) LDu51Gil8'fTuSl~ dnr'-fT i!jI6!"l~

(B) Dr. ~ui!jIGil 8i6\lfTLO

(D) CNR ~fTGiJ

16. Which one of the following group of social security schemes were hunched on May 9, 2015
by prime minister' ofIndia?

(1) Deen dayal Upadhyaya Gram Jyoti Yojana

(II) Pradhan Mantri Jeevan Jyoti Yojana

(III) . Pradhan Mantri Suraksha Bima Yojana

(IV) Atal Pension Yojana

(A) (I), (II) & (III)

(C) (I); (II) & (IV) .

\/(f1( (II), (III) & (IV)

(D) (I), (III) & (IV)

.$~"fT~LO 6lJfTffi,$lwut51r116lj"G1f1Gil.GLD 9.2015Gil ~Ji;~wu t51~i!iLD~fTGil~JDIC'P8iUUGi~i!iUULL 8'(I!l8i
UfTi!jI8ifTuLj~LLrfu8iGirWfT6!"l6lJ?

(I) ~615Ti!iWfTGir"--U~WfTW,$l~fTLDG1!5fT~~LLLO

(II) LSI~i!iLDLD)5~rI1~6lJ6bTG1!5fT~~LLlb

(III) t51~i!iLDLD)5~rI18i~ffi~fTQLDfT~LLLO

(IV) ~LGil Qu6bT~6bT~LLLO

I
I

I

(A) (I), (II) LDrDWtb(III)

(C) (I), (II) LDrDWtb(IV)

MCHGS/15
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17. The percentage of economically active age' group (15-59) ofpopulati?n in Tamil Nadu as per.

2011 census is'

(A) 56

(C) 76

I

. lDa;a;.LQlOrr6Ole; a;QlMa;Qa;(!)\uLl 2011-6N u!q. QJ(!9QJrrw fl'L(!)\<b QJUJi9I (15-59) QJ,,<bt5ic;\) iLo;ir6TTfbuSllJ)a;

lDa;a;..fl6N 6p;ro!b<b

. (A) 56

. (C) 76

(B) 66

(D) 86

18. Arrange the following waterfalls of India in descending order based on their elevation.

(A)

.vwf'
(C)

(D)

Shivasa?1udram falls, Jog falls, Killiyur falls, Agaya Gangai falls.

Jog falls, Shivasamudram falls., Killiyur falls, Agaya Gangai falls

Shivasam udram falls, Jog falls, Agaya Gangai falls, Killiyur falls

Jog falls, Shivasamudram falls, Agaya Gangai falls, Killiyur falls

g<.:w Qa;rrG!,$a;uuLG!Gir6TT. ~)i;~UJ Pifrrowu81;'Ql)QT iLUJIJr5,a;..fl6N ~!q.uuQ)Ll61C;\) . ~!Dr5J@)

QJJf1Q)6uuG!~i91a; ..

(A) 816lJ6@~~,,<b Pifrrowu5l. <':lJ.lrra;Piri:rowu5l, .$1o;ir..fl\!,l.frPifrrowu5l. ~a;rrUJ a;r5JQ)a; PifrroWIfHl

(B) <':lJ.lrrli;PifrroWIf5I, 516lJ6c!p~~1J<b PifrroWIf5I . .$1Gir.rrl\!,l.frPifrrowu5l. ~a;rrUJ a;r5JQ)a; PifrGliwu51 .

(C) 516lJ6Qp~,,<b PifrroWIf5I, GlJ.lrra; PifrroW651, ~a;rrUJ a;r5JQ)a; Piirrowu5l . .$1o;ir..fliY,frPifrGliWIf5l

(D) <':lJ.lrra;Piirrowu5l, 51QJ6@~~,,<b ,rnfrrowu5l, ~a;rrUJ a;r5JQl)a;PifrGliwu5l, .$1Gir..fl\!,l.frPifrroWIfHl

19. Find out the one among the options which is ,:ot a biosphere reserve.

(A) Manas (Assam)

",. Kaziranga (Assam)

(B) Nilgiri (Tamil Nadu)

. (D) Sundarbans (West Bengal)

(A) . lDrr6IrTrrOO(~Ql)rr<b)

(C) sirr5li)'r5Ja;rr (~Gl\)rr<b)

9

(B) PiQ).$1Jf1(lOuSlW,!!.irr(!)\)

(D) Bi}.i;lOfrurr6Noo (<':lD!D@)QJr5Je;rr6TT<b)
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•
20. The range of numbers indicated in the Richter scale to measure the intensity of

earthquake is
(A) 0 to 7 (B) 0 to 8

\)P'f" .0 to 9 (D) 0 to 10

Jbl6ll ~~ITGlj ~6l5I~j!;"'l:'5 <!!>IGTT8;ffiIT!';;LlT <!!>IGTTGljClffirrGTl1GiJGffirT@8;ffiUUL@mGTT rorOOffiGTl16i>TG:'5rrLIT

(A) 0 (lIl:'5GiJ7 6lJ"'l~ (B) 0 (lIl:'5GiJ8 6lJ"'l~

(C) . 0 (lIl:'5GiJ9 6lJ"'l~ (D) 0 (lIl:'5GiJ10 6lJ"'l~

21. Who wrote .the popular patriotic song, "Sarae Jahan Se Accha"?
(A) Rabindranath Tagore ~ Mohammad Iqbal
(C) Bankim Chandra Chatterji (D) Abul Fazl

'IfrrCl~ ~~rr6i>T Cllf <!!>IBolfrr'ror6i>TjDCl:'5lfuuiDQ)I UrrL"'l6ll gj)llJiDrDlllJ6lJIT UJrrIT?

(A) gj)~rrLS1p;~~)lirr~ :'5rr8i>IT (B) (lIlffiUliijl gj)8;urr6\)

(C) u8;i£hb 1fP;~~ IfLLIT1£I.. (D). <!!>ILjGiJurr81GiJ

22, Match the following
(a) Nehru 1 MandaI Report.
(b) Indira Gandhi 2. GATT
(c) V.P. Singh 3. Emergency
(d) P.V. Narasima Rao 4. Indo-China War

(a) , (b) (c) (d)
(A) 1 2 3 4

~ 4 3 1 2
(C) 2 1 3 4
(D) 3 2 4 1

1fIT!1lJrrffi G u rr(I)i~iijI ffi :

(a) Cl)li(I)i 1. UlOOLGiJ u IT!p;iijI"'l ~

(b) gj)p;~~rr ffirrp;~ 2. ffirrL ~uuP;:'5til

(c) 6l5I iS1. 81ffiJ 3. <!!>I6lJIf~ Jbl"'l6ll
(d) LS1.6l5I. )li~81til Ul ~rr@J 4. gj)P;~1lJ - 9ar ClurrIT

- (a) (b) (c) (d)
(A) 1 2 3 4
(B) 4 3 1 2
(C) 2 1 .3 4
(D) 3 2 4 1

MCHGS/15 10



•

au "" 81uSl~ t51" 1£'-:-6llTtD

GlJLLrr" Up;p;1ITl8;6llTI£B' IfLLtD

(B)
(D)

Which Act is named as Gagging Act?
. (A) . The Indian Press Act ,(B) Queens Proclamation
(C) Minto Morley Reform Act ~ The Vernacular Press Act
1OT)i;p;IfLLtD .al£8ilffiJ IfLLtD 1OT6llT~6llT!Jl8;I£U ULLi9J?

(A) ,@)i;p;1UJ Up;p;1ITl8;6llTI£B'IfLLtD

(C) uS1.maur L1lITirQ$!p;1{'!JP;If>B'IfLLtD

23.

, ,

24. Rouffis a folk dance of which state?
0' Kashmir

(C) Andhra Pradesh
a"rr:.u 1OT)i;::oLDrr)filQJp;p;1~ 8il"rruS1UJ p;L6llTtD?

(A) I£rr6i!j,tllir

(C). ~p;1 "tSWalf>lftD

,(B) . Himachal Pradesh
(D) Tamilnadu

(B) ,@LDrrB'ifQ) P1~lf>lftD

(D) If>uS1Wp;rr(5l

25. Matcp. the following and Choose .the correct answer from the codes given bel<;>w

(a) Maraimalai Adikal . l.
(b). Vedanayakam Pillai . 2.
(c) Joseph Beski 3.
(d) Venkatachariar 4.

Pratapa Mudaliar Charitiram
Viveka - Vilakkam
Kokilampal Kadidankal .
Veda Vilakkam

(a)
, (A) 3

\Pr 3
(C) .. 2
(D) 1

(b)
2
1
1
4

. (c)

1
4
3
3.

(d)
4
2
4
2

£W8;l£rr.mU6llTGIJ!D6llTlD IfITltiJrrl£ Qu~{'!JP;p;1., ~a!Jl Ql£rr(5l/i;/£uuL(5lGirQT @i!6luS(5ll£ffilQJ ,@{'!J)i;i9J IfITlUJrr6llT
6lSl6llTL6llTUJ alf>ir)i; Q If>(5l :

(a) LD6llTlDLD6llTQJ~"l-I£Gir l. t5I "rr If>u QPIf>Q$!UJrrir IfITlp;p;1"tD
(b) .aGIJ If>)!irrUJI£tD t51Gir6llTQT 2 . 6lSlaGIJI£ - 6lSlQT8;l£tD

(c) a&lrrlfu Qu.ro8il 3. al£ rr8ilQ) rrtDU rr.n I£"l-If>ffiJI£Gir

(d) Q GIJffiJ1£Lrr B'lfrrITlUJrrir 4. aGIJIf> 6lSlQT8;l£tD

(a) (b) (c) (d)
(A) 3 2 1 4
(B) 3 1 4 2
(C) 2 1 3 4
(D) 1 .4 3 2
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26. Match the following

Adopted Year

(a) India enacted Protection of Human Rights Act 1. 1948

(b) Universal Declaration of Human Rights 2. 1949

(c) India had formulated concept of Human Rights 3. 1979.

(d) India adopted the International covenant 4. 1993

on civil and political rights

(a) (b) (c) (d)

~4 1 2 3

(B) 1 2 3 4

(C) 4 2 1 3

(D) 3 2 1 4

IfITltLJrr6>"r~LrotLJ al"irJi;QI"@d;1Ii :

•

(a) 1s'i)Ji;;t)tLJrr LD6llI11",,-ITlroLD u rri91l1irru Lj IfLLp;rol"

"llDJJ)ld; Qllirr~Li9I

(a) (b) (c) (d)

(A) 4 1. 2 3

(B) 1 2 3 4

(C) 4 2 1 3

(D) .3 .2 1 4

MCHGS/15 12
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•
27. How many days maya member of Pariiament b.eabsent from sittings of his house without

permission?

(A) 3d days.

(C) 40 days
~ 60 days

(D) 70 days

,
5l<'9 UITIJIT(BLOQr!J) !L(!)Jut51QTIT <!9l@ILOibl QU'!J)ITLOGi?6T~P;bOl"" )!iITL.../li~8;@) <!9l""6V )!i"':'6Vtq-8;bOlllillieflro /liQ))i;i!jJ

Q/liITGTrGTTITLOro@<'9~/liQ)ITtil? '

Ideal of liberty. equa}ity and fraternity has been taken from28.

(A) 30 )!iITL.../liGTr

(C) 40 )!iTTL/liGTr

(B) 60 )!iITL/liGTr

.(D) 70 )!iITL/liGTr

(A)

VJ11f'
(C)
(D)

Irish Revolution

French Revolution .
..

Russian Revolution

American Revolution

I.
(A) rerfl~ L-llJUI •(B) t511Ji@;B;U ljIJL5I

(C) . IJ~UJu ljIJL5I

(D) <!9lQ LOrfl';;S;':' lj IJL5I

29. The Presiding Officers of both the Houses of parliament allows th~ members to speak in

(A). Hindi and English

(B) Hindi only

'I"Ji!!f" Hindi, English and Mother Tongue

(D) English only

UITIJIT(BLOQT!J)~:2ilro p;bOlQ)""ui <!9libl/liITrfl @<'9 <!9l..n6V/libOlGTTU uli>.aS1 CUe;QJp;Ii>@) <!9lwiLOibl8;/liUU(1\.$IQT!J)

Q LOITWi/liGTrUJIT""6V ?

(A)

(B)

(C)
,(D)

~ )i;iblLO Ii>(!)Jtil ~ffiJ.$I Q)til

~)i;:2ilLOL(1\til
,

~)i;ibl. ~ffiJ.$IQ)tilLOIi>(!)Jtil P;ITW QLOITWI

~ffiJ.$IQ)tilLOL(1\ til

13 . MCHGS/15
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30. Percapita Income rises when
(A) GNP and population increase at the same time
(B) GNP and population decrease

~ GNP increases fas~er than population
(D) GNP increases slower than population

ID6llIlp;u if IDQ)rr 6lJ<'5LDrr6"TLb.nJQ u rr@i!jI lLUJ ifffi1!Di!jI?

(A) "QLDrr~IDGID61UJ lLlbu~!~hL1Lb LD8;lEWQIDrrQ)lElLILb~G~ Gp;~~~QllLUJ<'5Lb Gurri!jl

"(B) "QLDrr~ID GID61UJ lLlbu~~lLILb LD8;lEWQIDrrQ)IE"-ILb@jQ)!DlLILbGurri!jl

(C) QLDrr~ID GID61UJ~lbu~~ <!9I~lEITIULj LD8;lEWQIDrrQ)lEQ)UJ6lSlL <!9I~lELDrrIE<!9I~lEITI8;@jLbGurri!jl

(D) QLDir~ID G~61UJlLlbu~~ LD8;lEWQIDrrQ)lEQ)UJ6lSlL@jQ)!DlLILb GUlTi!jI

•
/

•

• 31. Which Union Territory has the highest literacy rate in India?
(A) Andaman-Nicobar Islands
(B) Pondicherry
(C) Delhi

~ Lakshad-.yeep

.@!B~UJrr6lSlQl '"!BID i!jIQ)""- JbIQ)Q) LDrr.lli\Q)Lb(Union Territory) <!9I~IE lEQl6lSl lElbG!Drrif 6lSlffi1ID~Q)ID8;

QlElT..mr"l-<'58;ffi1!Di!jI?

(A) ~!BIDlJ)rrQr-.lli\GlErrurrif :$6l.jlEW

(B) urr..mr"l-"G",IT1
(C) QLQlQ\1
(D) Q)L."'~ :$6l.jlEW

I
1
j

32. During which "FiveYear Plan was the primary responsibility ofIri,dia's development shifted
to the public sector?
(A) I Five Year Plan J

~ II Five Year Plan 1

(C) III Five Year Plan
"(D) IV Five Year Plan

'"!BID ffi!BIDrr..mr(1\ ~L.L lErrQ)~~Ql .@!B~UJIT6lSlQr (lJlIDm6O"lLD 6lJ6ITrT,,61u Qurr!!JIuLj Qurri!jl~i!jIQ)!D"
. .lli\!!JI6lJ,;mriua; ~8;@j LDrrlb!DI6lJ \.9 riu IEUU L.Li!jI ?

(A) (lJlIDQl ffi!BIDIT..mr(1\~~L.LLb

(B) .@~..mrLrrLb ffi!BIDIT..mr(1\~~L.LLb

(C) (lJlm!DITLb ffiiBIDrr..mrffii~~L.LLb

(D) p;rrmlElTLb ffiiB~;rr..mr(1\~ ~L.LLb

MCHGS/15 14

.1
I

I



•
33. Which state attracted the largest value of investme'nts from Foreign Direct Investment

Propos~ls filed in 2011-12?

'(A) Tamil Nadu (B)' Kerala

\)PI' .odisha (D) Punjab

2011-12-~tD ~~tq.Q> ~)ii~huIT6lSlQr"-)iiiOLDITiblQ)~~Q>L611b~~Ib LD~h.JLSlQi~)iiiblUJ a,iblJtq. QJliOo;OL.q.Qr
QJlQr6Utq.6UtDiOIT8;IbQ>QlflUUJUULLl9J?

(A) iOL6I~P;IT(9

• (C) Vltq.6IT

Kutir Jothi scheme is reiated to

•
Industrial workers

Single point Electricity cOI]nection to households

Electricity connec~ion to industrial units

. Farmers(A)

(B)

.~

(D)

34.

I

I
!

r
I'

f
I

I
I

I

@i~fra1JilIT~~LLtD QiOIT'-;-fr'-lQ"lLUJl9J

(A) 6lSl6U6ITu5llb6IT

(B)' QiOITWlw61TQ"lQ)LiQlllflUJITmrrlb6IT

(C) 6lSL(98;@i~('!J'-l6ITmiL61Qr6ITIJ~Q"l_U'-l 6U6~ GJ.dJu(9P;l9JiOQ>

(D) QiOITWI.dJ6ITQ"lQ)Ib\58;@iL61Qir~Q"l_U'-l 6UWrf,,@iiOQ>
,

35. 'Who was'called the Grand Old man.ofIndia? .

(A) E.G. Tilak .

(B) Bipin Chandrapal

\)Ji1f' Dadabhai Naoroji

(D) Lokmanya

. (A) tS1.~.~Q)8;

(B). LSlLS1Qr6)ii~lJurrQ>

(C) iOITiOITUITWp;6UaIJIT~

(D)aroIT8;tDITQrUJ IT
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36. Which agitation is called as the "Blue Muti~y"/ . . .

(A) Chipko movement . ~) Indigo agitation

(C) Bhils agitation (D) Santhal Rebellion

•

(A) JiUG,W!i!lI1J,s,g;LD

(C) r516ilGill,g;61:>QJ~LD

(B) !i!loot<i-G,g;IT ,g;61:>QJ~LD.

(D) 8')i;~IT6il Lj~LJi

37. . A 2~digit number is3 times the sum of its digits. If 45 is added to the number, its digits are
interchanged. The sum of digits of the number is

. (A) 5

"\?f' 9

(B)' 7

(D) .11

-.

. . . .

~n- !i!l~ooGi !i!l61:>,s,g;<iTooqj,6mi!jl !i!l61:>,s,g;rliJ,g;Gf16irr""-Gi~61Sl6irr 3 LDLrliJ@5LDLDriJiPllo ~)i;~ <iTooG •• ,mGi 45-1)3
""-L Gi LD G,u ITi!jI ~G~ ITL !i!l61:>,s,g;ri.J,g;GiTU rrlQJ n-:'i;~'" 61!Tqj,.$I iDi!jI <iT61IiI6il~)i;~ <iT00 6I5IlfI6irr!i!l61:>,s,g;ri.J,g;Gf16irr

""-Gi ~6il <iT6irr61!T?

(A)' 5

(C) 9

(B) 7

(D) 11

38. . In a group of 15 people, 7 read Hindi, 8 read English while 3 of them read'none of these two,
How many' of them read both Hindi and "English? '
(A) 0 '. . ' - . ~ 3

(C) 4 (D) 5

15 Gun- Q,g;ITOOL @5@6lSl6il 7 GU(flj,s@5 !i!l)i;~tl.ILD, 8 GU(flj,s@5 qj,ri.J.$I61:>(lpLD@.m81,s,g; Q~rrltl.lLD, 3 GU(flj,s@5

. !i!l~ooG'loQJIT81,s,g; Q~rrlI1JITi!jI <iT6llI16il6f:'i;~"'6m GU(flj,s@5 !i!l~OOGilo QJITJi,s,g;:'i; Q~rrltl.lLD?

(A) 0

(C) 4

(B) 3

. ,(D) 5

,

1

39. Identify the wrong number in the given series : ~ 16, 20, 28, 45, 70, 106,

W 20 ' ~ ~ .
. .

(C) 45 (D) 70

(A) 20

(C) 45

MCHGS/15 16

(B) 28,

(D) 70'



•
40. The greatest number that will divide 137, 182 and 422 leaving a remainder 2 in each

case IS

~15

(C) 12 . .

(B) 21

(D) .22

Sl(Qj t.OuQu(Qj Gr~.137, 182 LDiwili 422 ~8iIlU Gr~lhQ1Gri 6lJ@i8;@itilaurr~ Gr.uQ)rr6lJtiJr6l~til 2 t.O~~rrlh

8iIQlL8;@itil Gr6llllro~)i;i!i t.OuQu(Qj Gr~ ~6bT~.'
.'

(A)

(C)
15
12

(B) . 21

(D) 22

••
41. If 40 men working 8.hours a day, can write 1920 pages in 4 days; tlien60 men worki~g

6 hours a day, can write how many pag~s in 2 days?

(A) 980

(C) 1180

~1080

(D) . 1280

40 aurr 8 LD6WfIa)lilJtil 4 )lirrLIh(58;@i 1920 Uli;s;ffiJlh.n 6T@~6bTrrro. 60 aurr 6 LD6WfIa)lilJtil 2 )lirrL/li.rrtro

Gr~i!iQl6OT'uB;~til Gr@~6lJrrrrlh.n?

..

(A) 980

(C) 1180

(B). 1080

(D) 1280

(B). West

(D) South

42. From his house, Sathish 'Yent 15 kms to the North, thenhe.turried west and covered 8 kms,

then he turned south and covered 6 k~s. Finally, turning to east, he covered 8 kms, then in .

which direction is he from his house?

(A) East

~North

Il'ffiGi<j.Gr~U6lJrr i!i~ .@(QjUt51L~~ro .@(Qj)i;~ 15 8iI.t.O i9J1lJtil 6lJL8;@i a)lirrB;8i1 ulU6WfI~~ t51~'-I aLDtiJalh ..

~(Qjtilt51 8 8iI.t.OulU6WfI~~. ~ID~ t516i>iQlDtiJalh ~(Qjtilt51 6 8iI.t.OulUlliofl~~. IhQlL61lUrrIE 8iIWB;alh ~(Qjtilt51

8 8iI.t.OulU6WfI~lDrrro.lD~ .@(QjLJl51L~~tiJ@iGr)i;i!i~6IDIJuSl.u.@(Qjuurrrr?

(A) 8iIWB;@i

(C) 6lJLB;@i

17
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43. A man is engaged in an office on contractual basis for 30 days. In the terms and conditions.

of his appointment it is mentioned that he will get Rs. 150 per day and if he is absent, an
amount 'of RS.25 per day will be deducted. On completion of his contract, he receives
Rs. 3,625 only. For how many days was he present in the office?

(A) 20 days

(C) '25 days'

(B) 22 days

(D) 27 days

~@ 11l6>fl!!,n-~uu)i;!!, .altlj-uu""LUS1ro ~C'9 .aI~@J6\llE~i51ro 30 )!iITLIE~8;@j G@J"'6\l8;@j .all1ln-~!!,UULLITn- .

.aI@J9"i91 ~uuJi;!!'~i51ro, G:@J""6\l8;@j @J@LO )!iITLIE~8;@j (19. 150 IfLOumCY'LO, @J9"IT!!,)!iITLIE~8;@j (19: 25

.aI u 9"IT!!,l1lITlEGljLO~n-l1lIT6>fI8;lEUu LLi9I. ~ u u)i;!!, CY'tlj-6lS1ro.aI@Jn- (19. 3,625 Q u WW8;QlEITOOLIT.u, 6f~!!,"'6lI1

)!iITLlEro .aI@Jn- G:@J.,,6\l8;@joU)i;!!,ITn-?

(A) 20 )!iITLlEro

\?" 25 )!iITLlEro

(B) 22 )!iIT~lEro

(D) 27)!iITLlEro

44. If 4S1 means"sky is blue", 246 means "sea'is deep" and 69S'means "sea looks blue", which
number will denote "sky"?

(A)

(C)
4

1

(B) S

(D) None of these

4S1 6f<;br!J)6fOO "sky is blue" 6f<;brU"'!!'lLjLO,246 6f<;br!J)6fOO "sea is deep" 6f<;brU"'!!'lLjLO,69S 6f<;br!J).-roo

"sea looks blue" 6f<;bru""!!,lLjLO@j!Dl~!!,IT.u,"sky" .-r<;brWJLOQIfIT.u.,,6\l @j!Dl8;@jLO.-roo WITi9I?

(A) 4

1

(B) .S

(D) .@"'@JlEcl!.u .-ri91Glju5l.u""6\l

45. If a plot of land is in the form of a quadrilateral where one of its diagonal is 250 ill long. .The
two vertices on either side of the diagonal are 70 m and SOIh away then the area of the plot
cifthe land is

. ~ lS750 m" (B) 20000 m"

(C) 30000 rho (D)' 40000 m"

~@ Gl'iLG\ l1l"'6llTWIT6llTi9I )!iITWIE 9"LO@Jtlj-6lS1.u"-rom i91. .aI!!,ior ~@ (Yl'" 00. 6lS1L LLO '£mLO 250.tIl )!iITWIE 9"~~ <;br

.@@ .-r$ln- ,,-if81IEro (Yl"'6\l 6lS1LL~~roIC'9)i;i91 70 tIl, SO tIl Q!!'IT.,,6\l6lS1.u ,,-rom6llT 6f6>flro Gl'iLG\ 11l.,,6llTu5l<;br

U&UU6TTGlj

(A)

(C)

MCHGS/15
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30000 tIl'

(B) 20000 tIl'

. (D) 40000 tIl'
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•
,.6

12

6

12

(B)

(D)

(B)
(D)

•
/

The product of the two numbers is 900. If the LCM of these. two numbers is 300, then fuid
RCF'. .

. (A) 3

(C) 9.

.@'l6lfoT@'6T6lfoT~6in <;;)u(!!iIi>Il>.uQIbITQ)Il>900 I1lliJjJ)ItO~Ql6lSl(!!i 6T6lfoT~6in I1l.QUIT.I1l. 300 6T6llfI.u ~Ib~
I1l.QuIT.~. 6r6inQl? . .

\At 3
(C) 9

. 46.

..

47. In 2011, the population of a town is 2,50,000. If it isin~reased hy 10% 'in the next year, find <

the population in 2012.

(A) 2,65,000 (B) 2,75,000

(C) 2,85,000 (D) 3,00,000

2011.-.@Ql. Vl(!!i )!ill>'l~~6in 11lS;Il>6irQIDITQ)Il>2,50,000, ~@~Ib 46lfoT"l-Ql ~~ 10% QU(!!i@jI1lITQlITQl.
. 20 12 - .@Ql 11l1i>8>6irQIbITQ)Il>Q)UJ Ii>Il>IT6lfoTB;.

(A)

(C)

2,65,000

2,85,000 ..

\,jliIIf' 2,75,000

(D) 3,00,000

48. A sum at compound interest doubles itself in 15 years. In how much years will ,it become
8 times?

(A) .20

(C) 35.
BnL.@ 6lJL."l-u516in
QU(!!i@jtO?

(A) 20

(C) 35

(B) . 25

\J}i!If' 45

(B) 25

(D) 45

LDLr&.lBirrBi

,.
49. If a = 5 b, what percent of 3~ is Sb?

(A) 10%

(q 25%

\IIf!r' 20%

. (D) 26%

(A) 10% (B) 20%

(C) 25% (D) 26% r

"
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50. Electro Cardiogram (ECG) is a graphic display of the
, '

(A) Time - invariant voltages produced by myo~ardium

(B) Time:'" invariant current produced by myocardium

'\j/ilIf" Time - variant voltages produced by myocardium

(D) Time - variant current produced by myocardium

(A) @:5 UJ~ibl6irr :5""If/E 61lTTGU6JJDu Gl~:5 u u Gl til./E fT6lJ~"":5 u Q U fT('lj~i!iJ LDfTjDfT:5u\l6irr"" C':Q~:5til

(B) @:5 UJ~ibl6irr :5""If/EGfTfTGU6JJDU Gl~~ u U Gl til /E.fT6lJ~"":5 u Q'U fT('lj~i!iJ LDfTjDfT:5uII~c:""fTLLtil
(C) @ :5UJ~ibl6irr :5""If/EGfTfTGii~JD U Gl~:5u U Gl til /EfT6lJ~"":5u Q U fT('lj~i!iJ LDfTiJ)Itil u\l6irr~C':Q~:5til

(D) @:5UJ~ibl6irr :5""If/EGfTfTGU'6JJDuGl~:5uu Gltil /EfT6lJ~"":5u Q U fT('lj~i!iJ LDfTiJ)Itil u\l6irrC:""fTLLtil

5l. Match the following:

(a) X-rays l. Henri Becquerel

(b) Electron 2. J.J. Thomson

(c) Neutron 3. James Chadwick

(d) Natural radioactivity 4. Roentgen

(a) (b) (c) (d)

(A) 4 1 2 3
(B) 3 2 4 1

~ 4 2 3 1

(D) 2 4 3 1

QU.fT('lj~i!iJ/E:, - •
(a) X-/Eiblr'r.;;GiT l. • Q~6irrJD1 Qu,g,@i~GU

(b) tOT6U8;L1Jrr~ 2. J.J. :5fTtillf6irr

(c) )@ !kJ,L~ fT6irr . 3. C:1);ltilGiuIffTL6lS1,g,

(d) @UJJD",,/E /EiblrTltU,g,/Etil 4. ~fT6irrL Q 1);l6irr

(a) (b) (c) (d)
(A) 4 1 2 3
(B) 3 2 4 1

(C) 4 2 3 1

(D) 2 4 3 1
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52. Which among the follo\ving is known as narcotic drug?

- '..

•(A) Aspirin

(B) Ascorbic acid

.~ Morphine

(D) Penicillin

GUfT6Ol::DLDI!J~tDi9II';;o$~6Ol::&i9116ll'<rG'tDLD@)i;~QUfT@6Tr'"i9J?

h (A) ~Gio~IT!.or .

(B) ~Gioo$fTIrL5l.;;<!91uS1Q)tD

(C) LDfTITL5l.or

(D) Qu.or61QSl.or

,53.' Consider the following statements:

Assertio~ (A) : Potassium Met~ Bisulpite (PMS) i~used for pr~serving fruits/juices

Reason (R) : PMS reacts with the acid of fruit/juice and pr?duces S02, which kills

microorganisms.

'(A) (A) is true but (R) does not explains (A)

~ Both (A) and (R) true, (R) explains (A) ,

(C)
(D)

(A) is true (R) is false

Both (A) and (R) are false

•

QUfTLLfT61UJtDQLDLLfT6OlLJo%U6Ol'UL (PMS) Ul,9/IFfT!9Jo$..,mUfT~o$fT';;o$uu UJ.oru G'.$llDQjI.. .

.o$fTlJQllfTtD'(R), : PMS Ul,96/ffT!6l6iJ.""6Trm <!9IuS1Q)~QjIL.or6lSI..,6lfTLiIT!)i;Qj1S02 <""@GllfT';;@i.$llD~. S02

!9J6ll'<r@uS!ITo$..,m<!91W1 i;;.$llDQjI.

(A) (A) /fIT!~~6iJ (R) (A)-6lSII!J@i•••IT!UJfT6lfT6lSIm';;o$LD6iJ611

(B) (A) lDI!J!9JtD(R) ~1J6ll'<rG'tD/fIT!,GlD@,lJtD(R) ,".ori.J19i{A)-6lSII!J@iIFIT!UJfT6lfT6lSIm';;o$tD

(C) (A) /fIT!~6lfTfT6iJ(R) ::DGlll!Jl'

.'(D) (A) LDI!J!9JtD(R) ~1J6ll'<rG'tD::&Gll!9J, '

21
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54. Bright colour of the fruits and flowers is due to

~ Chromopfast

(B) Chloroplast

(C) Amyloplast

(D) Leucoplast

. ulj)L1:> lJ)WI!JIL1:>!,j,8;ffiffilw ~lj)8i1w ;5lDJii>iblW@j8; ffiIT~_L1:>

(A) @jG~ITGlJ)ITl51GTTITOOL

(B). @jGGTTITG~ITL5lGTTITOOL

(C) ~.-o) lJ)G61JITl51GTTIT00 L

(D) @II"-l8;GffiITL5lGTTITOOL

55. Match the Discovery with Scientist Name' :

, •

(a)

(b)

(c)

(d)

Binomial nomenclature
Fluid mosaic model of cell membrane

One gene one enzyme hypQthesis

Human blood group
/

1.
2.

.3.
4 ..

K. Landsteiner
G. Beadle and E. Tatum
S.J. Singer and G.L. Nicolson

Carr Van Linnaeus

(a) (b) (c) (d)

(A) 1 3 4 2
(B) 2 3 4 1 .

~4. 3 2 1
(D) 4 1 2 3 ,.

~Q9 ~w ~<!9 Q)!llTibl Gffin'LUITG' .

. lJ)6O\l1O~~ii>ib@jQ9u 6Umffiffim

(a) ~Q9Quwn1G'L1:> @.-o)DJ

(b)

(c)

(d)

(a) (b) (c) (d)

(A) 1 3 4 2
(B) 2 .3 4 1
(C) .4 3 2 1
(D) 4 1 2 3
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. .

-56. .:.Match List I with List II and select the 'correct answer. u'singthe code" given below the list

. List I List II

- . ' .
(a) Anae'mia 1. . Bone
(1)- Osteoporosis 2. Brain. ..
(c) . Alzheimer's disease 3. Liver

• (d) Jaundice 4. Hemoglobin'

I'
(a) (bY (c) (d), (A) 1 2 3 4',

~:4 1 2 3
(C) 2 3 '1 . 11' .l
(D).1 2 4 .3 ,

. QJITl..,6 I IL":'Qr QJITlQl6 II'QSlQlQTtJ Qurr<!9~~QJ"rri~6B;~8;@i8; B;19'QllirrG8;.$uUL..(9.rrorr Qi5rr@iut.Sle;Ol<!9)i;~
'6ITlLUrr6l>lQSlQlLu5I~6l>l~ Q/1i'ITl6l.l(;;l6.uB;. .

" Q;ITl..,6 iiQJITlQl61

(a) ~.muSlLUrr 1. 6f~t1lLj

(b) ~Qui.rCLU.rr :.CurrGlJrr 51w .2. QP..,orr .'
. ~.u~.$rTQu C,!!irrw B;.u<;QlJro

.' .
(c) 3.
(d) LD1@l6.rrB;rrLDrrQlQ) 4. ~C~rr@iCorrrTl5lQr',

(a) (b) (c) . (d)
(A) 1 2 3 4
(B) . .4 1 2' 3
(C) ,2 3 1 4

(D) 1. 2 4. 3

'.

...
57:

. '

, '

, Which disease is otherwise called as "Christmas DIsease"?". " .
. . ,

'. (A)' Haemophilia A '. .

,\Jllff.. ~aemophilia B .
(C) Protonopia.' -:.
(D) D.eutronopia "
"8il!6lW~LDQu C,!!irr.u" 6fQrulfiQr CQJl!)IQULUrT6fQr~? .

"(A) ~C';'rTl5lQ5\LUrr (~) ~1J~1DU:i R..,GO)jDLUrrbilLDA

(B). ~CinrTl5lQ$1LUIt (~) ~1J~i5t1l ":'rojDLUrrQlLD13 .
(C) . LjClJrrL..CLrrG,!!irru l5ILUrr

(D) "l-\Yo.:..~alJrrG,!!irru~~rr .
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58.' Who won the Australian Open 2015 Women's Single Title?

(A)

(C)

Venus Williams

Martina Navratilova

(B) Monica Seles

. ~ Serena Williams

(A) . r;{;@0u 6lSIGil6lSIlULD0u

(C) lDITiF"t-@IT )D6lJi)-~~GQ)IT6lJIT

(B) GlDIT6Il\IffiIT GIfQ)0u

(D) GlfrTI@IT 661Gil6lSllULD0u

59. Indicate the state in India which h'as fixed minImum educational qualification to contest in

Panchayat ElectIons?

. (A) Kerala

:~ Rajasthan

(B) Assam

(D) Uttar Pradesh

@.IT>~ lU IT6lSIGil Gr.IT>iD lD ITIfIQ)LD u @;IfITlU~i91 GiDrT iD6lSIGil Gu ITL"t-uS1@6lJiD!D@j @J""£O.IT>iDuLIF ffiGil6lSl~ iD@J~ ""lU

IfI rT_US1 ~i91 mffi191?

(A)

(C)
Gffi~6TTLD

~ITI£0u iD IT6irr

(B) ~0uG1UITLD .

(D) "--~~~uL5\~GiD1fLD

60. Face bookwas founded by

(A) EdwardKi . (B) Charles Babbage

~ Mark Zuckerberg (D) James Arthur

(lpffi!BITGil IfIw6lJ@rTlGirr G u lU rT

(A) GrL6lJrTL ffiI (B) IfITrTQ)0u GuGu1!<l

(C) LDrrrr 8; CTr8>8JrrQU IT8; (D) GI£LD0u~rTiDrT

(D) China

)DIT@ G LGil6lSlffi@J ~ mI~i91 6lJ ('Ijffil£0191.

(B) GiDGirr GffiITrTllUIT

(D) 5GMIT

Japan

----- country supplies the driver less metro train to Delhl..

Germany \Jlff' South Korea

(A)

(C)

(A)

(C)

61.
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62.. Consider the following statements:

- Assertion (A): World bank on, April 18, 2015 established pollution. management and
Environm~nt health programme.,

Reason (R): This programme will focus primarily on air quality management in
countries facing rapid urbanization Viz. India, China, Egypt, Nigeria and
South Africa.

(A)

(C)

Both (A) and (R) ate false

(A) is true and '(R) is false

(B)

VJiI1'
(A) is false and (R) is true

Both (A) and (R) are true

B<>.W!J)l(A) :

Ilirrg...,-Lil(R) :

<LrolliQJrr".$l, GJugGiJ 18. 2015GiJ "LOrra;CLOrorr.m~LO LOW!J)lLila;W!J)lif@;wGiJa;llirrj1irrg
iSlLLLil" ~Qj~lD <LC'9QJrr,$.$lUJ~

@~i5lUJrr. 8<;mrr,<>r.$lui!jI.~p;~rr1UJrr LOW!J)lLilQj1iQj 4ut5irr1,$Ili~ 4.$lUJ ~i5lCQJIli P;llig
QJGTTITif61llirr@llLilp;rrGiIli.rrlGiJ@~i5lLLLb IlirrW!J)l~j1igLilClDrorr.m~lDuSlGiJLSlgj1irr<;ma;QJ<;mLil
Q~~~~.$llD~.

(M

(C) .

(A) lDW!J)lLilCR)j1iQJlDrr<;m~QJ

(A) 6rr1LOW!J)lLil(R) j1iQJ!J)l

(B)

(D).

(A) j1i~!J)llDW!J)lLil(R) 6rr1

(A) lDW!J)lLil.(R)6rr1UJrT<;m~QJ

\)iiff LIC
(D) HDFC

63. Bangladesh has permitted the ----- insurance company to run its business in that
country.

(A) Reliance

-(C) Bharathi Axa

QJrr"llirrGTTCj1i6~iSlGiJ@,!i;iSlUJ@Qja;gQjGi\) ib1!J)lQJ~lDrr<;m------
_QllirrGi%~GiTGTT~

(A) rr1~roUJQiGi\)

(C) urrgi5l.~,$Q\)rr _

(B) <>rGiJ1J:J61

(D)<>rif "l- <>ru61

64. Name the Tamil scholar whose 20P' birthday. celebration was' observed by the government._
of Tamil Nadu recently?

CA) Veeramamunivar ~bert Caldwell
(e) Arumuka Navalar(D) . Desiga Vinayagam Pillai

<>r,!i;j1ij1iuSlW~W1~rr1Gi 201QJ~ LSllD,!i;j1ip;rrGiTG1Slwrr6tDUibi5lGiJj1iuSlWIli~g6rrGiJ ~WJ6rr18;lliuULLi!jI?

(A) GUglDIT(lpQf1QJIT (B) grrUITLIlirrGiJGiQQJGiJ

(C) ~(lplli p;rrQJQ)IT (D) Cj1i611liG1Slp;rrUJIliLilLSlGiT~GTT
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65. Name the massive air and sea operation launched by India to save Indians from Yemen.

. \JtIff". Operation Raahat (B) Operation Sukoon

(C) Operation.Trishul (D) Operation Pawan .

<iJLD6OfI606l.J1T.;r6l.Jl9ILD!D!!)ILb :,!,GID~6l.Jl9I(IJiL60 6l.J19I) :,!,lTffi@j:,!,60)DL~~ .@)b~lLJ rTlJiGID6lTtllLL ~ LL~~.;r Q U lLJ.rT

,".;r6llT?

• I

(A) ~1T1Ji1T~tllL~ )DL6l.Jl<j.ffiGIDIli

(C) ~rTl@560 tllL~ )DL6l.Jl<j.8;GIDIli

(B) 8i1Ji.;r tllL~ )DL6l.Jl<j.ffiGIDIli

(D) U6l.J.;r LDL~ )D'-;-6l.Jl<j.8;GIDIli

66. Forest department of which state has setup the satellite tracking system to detect forest
fire?

. ~ Himachal Pradesh (B) Uttar Pradesh

(C) Andhra Pradesh (D) Madhya Pradesh

IJiITLGl ~:!lGIDlLJ IJiOOL(DI6l.J:,!,!D@j . .@)b~ lLJ1T6lSI.;r '")b:'!' LDlTiBl6\l 6l.J6llT~i91GIDJD Q Il'lLJ!DGIDIJiGIliIT6T IJiOOIJiIT6OOf1U ~

c'9IGIDLDUGIDU"-(!96l.J ITffiffi1lLJi9I?

Who wa~appoin:tedas the Chief Election Commissioner ofIndia in April 2015?

. (A) J. Be Patnaik \,Itt!(' Nasim Zaidi

(C) Dr. Raman Singh (D) C.R. Reddy

67.

(A) .@LDITIl'6\lU t51~G:,!,ll'ill

(C) qj,)b~ ~ t51~G:,!,Il'Lb

(B) "-~:,!,~u t51~G:,!,Il'Lb

(D) LD~~ lLJU t51~G:,!,Il'Lb

I
I
I

i
. I
I

'(A) J. B. uL)DlTlLJffi

(C) Dr. ~ITLD.;r IflffiJ

(B) )DBill1£lTtU l<j.

(D) C. R. Q~Ll<j.

68. Anti Leprosy Day is_observed on

(A) 18 January (B) 21 January

(C) 27 January \JPf' 30 January.

Q:,!,IT@GllilTtU ,"~rTU~ ~6llTLb ------ c'9I.;r!!)l c'9I@I"rTlffilJiuuGl£1JDi9I.

(A) 181Jl6llT6l.JrTl (B) 211£6llT6l.JrTl

(C) 271£6llT6l.JrTl (D) 301Jl6llT6l.JrTl
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Match the given rivers of India with their tributaries:r

I
I

•
69.

Rivers Tributaries .

(a) Ganga l. Amaravati

(b) Krishna 2. Tawa

(c) Cauvery 3. Kali

(d) Narmada 4. Bhima

(a)' {b) (c) (d) ..
vJtf'3 . 4 1 2

(B) 4 3 1 . 2'.
(C) 3 1 4 2

(D) 2 3 .4 1

. .

I

l
I .

t
I

I
I
,

)!i~s;m i9J6Ol- )!ii/ils;m

(a) ,S;.r,,6OlS; l. ~LD'TITQl~
.

(b) ai1@~~IT 2. I"ITQlIT

(c) s;IT6611fl 3. S;ITGlfl

(d) )!irrLDI"IT 4. tSLDIT

(a)' (b) (c) (d)

(A) 3 4 1 2 ,
(B) 4 3: 1 2

(C). 3 1 4 2

. (D) 2 3 4 1

'70.' The district which:is known as the 'Shrimp capital of India' is .

(A) Nagappattinam. (B)Chennai

(C) Cuttack ~ Nellore

~)i;i/ilUJIT661Ql '~lDITQ> 1"6OlQ»)!iS;'TLD',"QllD6OlW,;;s;uu0LD LDITQlt;..LLD

(A) )!iITS;UUL.."t6OlLD

(C) S;L..LIT';;

, .. 27

(B) Q~6Ol6Ol

(D) . Q)!iQ>~rr
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71. Point out the correct statement .regarding Bardoli 'Clovement..

\)Iff' The Bardoli programme of Gandhi laid stress on removal of untouchability

(B). The Bardoli programme laid stress on non co-operation.

(C) The Bardoli programme laid stress on civil disobedience

(D) The Bardoli .programmelaid stress on communal harmony

£ \p/E rr@II LD. 6lJ rr,,$I UJri.J/Effil6lS1@)!; ~ u frC::!!,rr6IS1 @UJ"/ELD Q !!' rrL fr'-1(5) LUJ "ITlUJrr6IrT 6l5I"" L"" UJ C::!!'frGlj

Q"uJUJGljLD.

(A) 8i rr)!;ilJ u51GNu frG:!!,rr6IS1@UJ"/ELD i5 """ Lrr (5) lll(5) UJ 9 ~ "/E C'P UJGN!Di9l

(B) ufrG:!!,rr6lS1 @UJ"/ELD, 9~~(5)~UJrrQ5)1ll @LLi"/E~(5)!!, qt,!!,ITl~!!,~

(C) ufrG:!!,rr6lS1 @UJ"/ELD, "LL lll,Q)lU'-1 @tu"/E~""!!, qt,!!,ITl~!!,~

(D) ufrG:!!,rr6lS1 @UJ"/ELD, @6IrT 9!D,Q)IQ5)1ll""UJ i9ITOO"l-UJ~

72. Choose the correct answer:

Who referred 13harathiar as the'Morning Star of Reformation?

(A) Periyar (B) Aurobindo

.....;pI' C.N.Annadurai (D) Rajaji

"ITlll.J rr6IrT6lIl (5) L(5) UJ G:!!,fr)!;Q !!'Q;\ "/E :

u rrlJilJ UJrr(5)1J lll,Q)llll6\lfr8'iFlu51GN 6lIl "l-Q6lJGirffil 6TGN,Q)I""01UJ6lJfr UJrrfr?

(A) iE)!;Q5)iE QuITlUJrrfr (B) ilJ@ . .&I1J6lIl)!;iEfr

(C). ilJ@. iFI.6TGN. .&I.,;M6l!OTrr~6ol1J (D) @lJrr1i,lrr1£l

Copper

Wheel

The invention of------accelerated the progress of Indian civilization.

(B) Iron

(D) Bronze

(A)

.~

73.

. /EOO Q;\ L5I~ U '-1 @)!;ilJUJ )5 rr/EIi'/E~ilJ GN 6lJ GlTfr8'iFI(5)UJ G:6lJ/EU u Q;\ ~ilJ UJ~ .

.(A) Q"LD'-1 (B) @@LD'-1

(C) ""/EIJLD (D) Q6lJOO/E6\lLD
,.
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74. Fundamental duties were incorporated in the constitution on the recommendation of

(A)

(B)

~
,(D)

Shah commission

Administrative Reforms commission

Swaran Singh com~ittee

Santhanam committee

I
I

I

~iT6IUJQ) 6IT6GlT6LL-P;~Q) tSlQrQJ(!!jtb 6I'iOQr 61uITrrla;uu"l' ~tq.uuQ)L- 8;L-Q)LDS;Ql' C:6ir/i;s;uuLQjl6irQT~?

(A) ~IT <!'IbQ)6lRlTUJtb

(B) ~irQJITS; 6irM)(!!jP;iO <!'IbQ)6lRlTUJtb

(C) a;QJITiTGior61ffiJ@i@

(D) 6)i;P;ITGlTtb@i@

75. Which of the following is/are not the m'ain features of the parliamentary system of
government?

1. Fusion of powers

. 2. Judicial review

3. Written constitution

(A) 1 and 3

VWf 2 and 3

(C) 2 alone

(D) 3 alone

MCHGSI15
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1. ~~S;ITiT .~(!!jrr,;~';"'6lRlTuy

2. ~~ LD!1JI<!'IbtUQj

3. 6I'@iOUULl,- ~iT6IUJQ) 6LL-tb

(A) 1LDrDf!)Jtb3

(B) 2 LDrDf!)Jtb3

(C) 2LDLQjltb

(D) 3 LDLQjltb
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76. Who among the followingis authorized to certify whether a particular bill is a money bill or
not?

•
(A)

(B)

~

Concerned Minister for the bill
The Prime Minister
The Speaker
Lok Sabha

L516irrGlJ(flj tb iDU rf8;Q\1 Gil. .,. GlJrT ~ (fljGlJ rT, ~ (flj @iJJ51UL51LL LDC:,m ~ IT U 00" LDC:1f IT~ ITGlJIT @Gil""6\lWIT .,. 61lT

If IT6irrlDQ\1U U ITrT?

(A) LDC:IfIT~IT IftbLD)i;!pUUL.L .,&I""LDBolfrT

(B) . L51g~LD LD)i;~rTl

(C) IfUITiDITWffirT.

(D) LD8;ffi61T""GlJ

77. Who among the followingwas the first speaker of the Indian Parliament?
(A) V.J. Patel (B) Bali Ram Bhagat

~ G.V.Mavalangar (D) N.A.Ayyangar

. L516irrGlJ(fljU GlJ(fljGir .,. GlJ~ @)i;:JjI W U ITgIT~ LD6irrlD$:JjI6irr C'P ~Gil IfU ITiD ITWffirT"""'GlJ ITrT?

. (A). GlIl.G1£. uC:~Gil (B) UITQ\l gITtb Uffi~

(C) ~.6l51. LDIToUQlrfuffiITrT (D) .,.6irr."' . .,&IuJUJrfultITrT

78. Point out a wrong statement from the followingstatements .
.

In the followingconditions, no person shall be eligible for election as President unless he

I

1

I

(A)

(B)

(C)
~

is a citizen of India
has completed the age of 35 years.
is qualified for election as a member ofHouse of people.
holds any officeof profit under the government of India

.$~ffiIT@lItb . )5IU)i;~""61lTffiGir @(flj)i;~ITQ6\lIT~W ~(flj6lJrT @i"!-WgBi$ ~""QlGlJ rT C:~rT~Q\lGil C:u ITL.,,!-u5IL

. ~@i~ lLj "" L W GlJrT.,&IGil6\l

(A)

(B)

(C)
(D).

MCHGS/15

@)i;:JjIW @i,,!-LDffi61lTITffi@(flj8;ffi C:GlJ.,;",-~tb

35 GlJW""~ ffiL)i;~(flj8;ffi C:GlJ.,;",-~tb

LD8;ffi61T""GlJ "-(!)IuL5161lTrT C:~rT~Q\lGil U rfu@i Q/liITGir~t.b ~@i:Jjl @(flj8;ffi C:GlJ";"'-~t.b

q\,~ITwC'PGir~ GJC:~WJt.b ~(flj .,&IgBi u~GlIlu51Gil @(flj8;ffi C:GlJ";"'-~t.b
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•
79. The first National Commission for Women was constituted on

(A) 31"January 1990

~ 31" January 1992

(C) 31"Jamiary 1989

(D). 31" January.1991

QU""'ffi~8;,"rr6I!T (!PiDQJ ~iD61tu~6!l6lRlTtuU:>)Bll!)!QJUUL..L)!irrm

(A) 1990 1)361!TQJrrl31-u:> )!irrm

(B) 19921)361!TQJrrl31-tb )!irrm

(C) 19891)361!TQJrrl31-u:> )!irrm

(D) 19911)361!TQJrrl31-tb)!irrm

80. Which articffi of the constitution empowers the parli~ment to legislate on any matters of

State list?

(A) Art. 115 (B) Art. 183

(C) Art. 221 ~Art. 249

LOrr)BlroUL...lJttu6lS1QJ"-.m61T~6!llDffi~QJ 6L...L~6!liD~tu!i>l!JI6uiD!i>@)urr"rr~L06bTlDtb /f8;f). U6I!TL~~ 6T6bTl!)!

8"-l!)!.$I6bTlDGlSlf). Gr~ ?

. I

(A) GlSlf).115

(C)GlSl~221

(B) GlSlf).183

(D) GlSlf).249

,

81: Who among the following persons moved the largest number of amendments in the

Constituent Assembly?

(A) K.T. Shah

(B) Naziruddin Ahmed

(C) Sardar Patel

~K.v. Kamath

L5lGOrQJ(!!jU:>)!iuir,"~QJ GrQJir.Vl(!!jQJir~,,61turo6I!TLOULj)Blir6lRlTtu66!luu51QJQU(!!ju:>urrrorr6I!Tf).(!!jP;iDffiJffi6!l6IT

Qffirr...,.G\ QJ)i;iDQJir?

(A) ~ffi.lJt.~rr

(B) )!i1il(!!j~GOr~ffiLO~

(C) 6iriDrrir u~u.\>

(D) ~.GlSl. ffirrLO~
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82. Which one of the following is not an aspect of Green Revolution?

(A) High yield varieties of seeds

(B) Use of chemical fertilisers and pesticides

(C) Mechanisation of agricultural activities

~ Enforcing high level of labour use in agriculture

£w,;,e;ITWJtD ""-!D!!)Ie;.rr1<fu~Girr!!)l UBibllLOU LjI)LIl1uS1~ ~w<fuLje;GlTIT"; ~<fubllQ)?

(A) ~~e; GlSlbllGlT61f<fuili('9tD GlSl~i918>e;cir

(B) ~I)IfITWa< "-l)riJe;cir LO!D!!)ItDkJ,61l18>Qe;IT<fu6151e;bIlGlTuwGirru(!j\~i91GlJi9I

. (C) ,GlSlGlJIfITW)DLGlJI<j.8>bIle;;,;.rr1<fu~w)i;~l)riJe;bIlGlTUwGirru (!j\~i91GlJi9I

(D) GlSlGlJIfITW~~<fu~~e; orGlilrrOOl';'bIle;uS1<fuiLbIlI-PuUITGlTire;bIlGlTu uwGirru(!j\~i91GlJi9I

83. ' Which among the followingprogrammes'aims at ensuring a ba~kacco,unt in every family?
~ Pradhan Mantri Jan Dhan Yojana
(B) Saansad Adarsh Grama Yojana

(C) Swachh Bharat Mission Abhiyan Yojana
(D) , ,Integrated Child Protection Scheme

£w,;,e;ITWJtD or)i;I5 ~LLtD ~6iJQGlJIT('9 @i(!j\tDu(LPtD ~('9 GlJriJffile;<m8>@i 6O)GlJ~i9J@('9,;,e; G:GlJGlilrr(!j\tD,ora<
"-!!)I~uu(!j\~i91ffi1!Di9J? '

(A) L51lJiliITGirrLO.rn~rT1IllITGirri5Girr~LLtD

(B)IfITQrIfL ~i5ir~ ffill)ITu51w~LLtD

(C) GiuGlJIT6UITI)~ u51~Girr ~L5IWITGirr ~LLtD

(D) ~('9riJ,ffiloiJ<m.rnili @ibll.rnbllI5e;GjruITi9Ie;rruLj ~LLtD

84.. ' ~e was the Mahalwari system first introduced in India?
\4) Agra and Oudh

(B), Tanjore and Trichy

(C) Vijayawada and Kurnool
(D) Jallandar and Delhi

(A)

(B)

(C).' (D)

MCHGS/15

~8>l)rr LO!D!!)ItD~6l.J~

I5i@;lfrr~ir LO!D!!)ItD~('961l1

GlSlIllWGlJrrLIT LO!D!!)ItD e; irJilrr<fu

1llQ).rni5ir LO!DlPJ tD Q L<fu6151
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85. Who was the founder of Swaraj party?

.VJtf' Motilal Nehru

(C) Rajaji

(A) ~LDIT%1Q)lToo~)li<!9

(C) glTlJillT~

"(B) Jawaharlal Nehru.

(D) Tilak

(B) 1Jil6Ujil!D ITro 1T00~)li <!9 .

(D) ~roB;'IT

86. Name the freedom fighter who was affected by leprosy in Trichy Jail.

(A) V.O. Chidambaram Pillai

\p( "Subramania Siva

(B) Subramania Bharathiar

".(D) V.V. Subramania Iyer

(A) 6U.!L. 6l1OLi:>ugLi:>t5lmQlQT

(C) e;ut5lgLDQR>fIUJ 6l6U1T

(B) e;ut5lgLDQR>fIUJ UlTlJ~UJITIT

(D) V.v. e;U~lJLDQR>fIUJ 1BUJIT

87. Whose document "hasbeen called as "Magna Carta of India"'?-

(A) Lord Canning ~ Queen Victoria

(C) Rani of Jhansi (D) Lord Dalhousie

(A) 1li6lrr6o\l rfu t5l g'-l

"(C) . gITQR>fIIJilIT6irr61

(B)' LDllifrlJlTQR>fI6lSl8;~LlTlflUJIT .

(D) Lro Q jil!D QT61 t5llJ'-1

88. Who coined the slogan 'Jai JawanJai.Kisan'?

~~ Lal BahadurShastri (B) Lala Lajpat Rai

(C) Motilal Nehru (D) Patel

(A) rolToo UIlii9fiIT 61T~~rf1

(C) ~LDIT%1rolTro ~P;<!9 .

(B) OOlTrolTro!i.lu~ lJlTtU

. (D) UL.~Loo
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89. .Pick out the odd one from the following alphabetical sequence.

(A) PSVYB

(C) NQTWZ

(B) HKNQT

~SVXAD

(A) PSVYB

(C) NQTWZ

(B) HKNQT

(D) SVXAD

91. The sum of the squares of three consecutive positive odd n{,mbers is 251. Find their sum?

(A) 25 Vt!!!f' 27

(C) . 26 (D) 24

(yl6irr1!)l ~ (i)\:iil" (i)\:iil" uSI." ,,' ~ 0"'!D 6T6liIT".rt16irr GlJITIi""",,.rt16irr 86L(i)\I"Ql 25 1. ~ 6iJ Q GlJ6liIT".rt16irr 86L(i)\I"Ql

6T6irr6llT?

(A) 25

(C) . 26

CB) 27

(D) 24

92. Simplify:

87x96 ~4.8

~
1740 (B) 1500

(C) 1760 (D) '1670

"C'91i@j" :

87,x96 ~4.8

(A) 1740 (B) 1500

(C) 1760 (D) 1670

MCHGSI15 34 +.-
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93. Six students A, B, C, D, E and F are sitting in the field. A andB are from Nehru house

while the. others belong to Gandhi house. D and F are tall while the others are short.

A, C and D are wearing glasses while the others are not. Which taIl.student of Gandhi
. house is not wearing glasses?

(A) . B

vPf' F

(3) C

(D) E

5l(llj QlLDpjrrQ1~~.GiJA, B, C, D, E LDWIJ)JLDF 61"k!D6 LDrrEONGlJITIli6IT<!9ILDIT)i;~(IIj)i;IOQ1IT.<!9IGlJITIliG1flGiJA, .B

G)D(IIj@)@QlGlJG"IT)i;IOGlJITIli6IT.LDW!DGlJITIli6ITIlirr)i;~ '@)@QlGlJG"IT)i;pjGlJITIli6IT.6 GuITlGiJD, F LDL(5lGLD

lLUJ~LDrr.Q1GlJITIli6IT.A, C, D 61"~UGlJITIli6ITLDL(5lGLD1li6ll1rr1£6ll1rr_rr"l-<!9I6ONl)i;pjGlJITIli6IT61"Qr!DrrGiJIlirr)i;~@)@6lSlGiJ

l2..6ITsrlLUJ~LDrrQ11li6ll1rr1li6ll1rr_rr"l-<!9I6lIOfIUJrrIOGlJITUJrrIT?

(A) B

(C) F

(B) C

(D) E

94. TWo cubes each with 8 centimeter edge are joined end to end. The surface area of the
resulting cuboid is

(A) 1440 (centimeter)2 (B) 830 (centimeter)2

~640 (centimete~)2 (D) 6400cm2

5l6iJQGlJrr~IJ)JLD8 Q~"l-u'lLLIT (1JlQlQ1Qllirr6ll1rrL~~.wr(5l 1liQ1 "i9J~ffiJIliG1fl~(1JlQlQ1IliQlGlTQllirr6llirr(5l

~Ql_Ii;@jLD Gurri9J8iIQlLIi;~u QUIJ)JLD1liQ1"'-(lljGlJ~~~ Lj!DUU~uLju~uusr6l.j ~@)LD..

(A)

(C)
1440 (Q"~"l-u'lLLIT)2

640 (Q~"l-u'lLLIT)2

(B)

(D) 6400 Q".u'l2 .

95. Find the number whose seventh part multiplied by its eleventh part gives 1232.

3 (A) 121

\?'308

(B) 49

(D) 316

Sl(llj 61".wr6llOfl~7--QJi9JU~Ili~G5l~<!9IpjWJQlLiull--QJf9J urr~~rrG1 Q':"(llj8;~~GiJ GlJ(lljGlJf9I1232 61"6lITlGiJ,

61".wrUJrri9J?

(A) 121

(C) 308

(B) 49

. (D) 316
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96. If ~ +.JY = 17 and ~ -.JY = 1, then ;,FY = 7

(A) .64 ~ 72

(C) 96 (D) 98

•

(A) 64

(C) 96

(B) 72

. (D) 98

97... Find the average of first ten positive multiples of three?.' .

(A) 17.5

\Ji'ff 16.5

(B) 17

(D) 16

(A)

(C)
17.5

16.5

(B) 17'

(D) 16

98. P and Q can do a job in 5 days and 10 days respectively. They began the work together but

. P leaves after some d","ysand Q finishes the remaining job in 4 days. Mter how many days

did P leave?

(A) 4

\fiI'!'" 2
(B) 3

(D) 1

P lJ)WIJ)JU:>Q ~(F9 GQJ"'Q)"'llJ <!P"l-B;iJ;<!P"'WGllJ5 lJ)WIJ)JU:>10 )5rrLlliffi GTG\i5i91B; Q'llirrffi8ilmW6>ln-. ~(F9QJ(F9tb

~mwrrlli ~(F9 GQJ"'Q)"'llJ80 Q"UJllJi5 Q::orrLrf.J@;8ilroW6>ln-. qj,6>lrrciJ P 81Q) )5rrLIli\5B;@;u t51W@; ~Ji;::o

GQJ"'Q)Q)llJ 6lSlLG\ 6lSlQ)@;8ilWrrn-. J)::o GQJQ)Q)"'llJ Q 4 )5rrLIliGTflciJ <!P"l-B;8ilWrrn-GTrowrrciJ, GTi5::O"'6>I

)5rrLIli\5B;@;u t51W@;P GQJ"'Q)Q)llJ 6lSlLG\ Q"rorD1(F9uurrn-?

(A) 4

(C) 2

MCHGS/15 .36
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99. The SUIll:that will give Rs. 1 as simple interest per day at 5% per annum is

-(A) Rs. 3,650

(B) Rs. 36,500

(C) RS.730

~, Rs.7,300

5%.~6lilrrG' 6UL."l-8;";ITQI~1!i~6UL."l-~<!9)!iITQTG1T8;@i(!!j. 1 61"~Gil~l!im ~6Q)ITQlgjI .

(A) (!!j. 3,650

(B) (!!j. 36,500

(C) (!!j. 730

(D) 07,300.

100. Two numbers are in the ratio 17 : 45. One - third of the smaller is less than ~ of the bigge~

by 15. The smaller number is

(A) 9-
2

~. 76~
2

(C) 17~
2

(D) 45~
2

~<!9 61"6lilrr,,;.rr!m61Sl8ilI!irr",,;.rrQp~!!JaUJ 17 : 45. 51!61UJ61"6lilrr.m1m3-Gil1 UIT";LDITQlgjI.QurrlUJ 61"6lilrr.m1m5-Q>. '

~<!9UIT,,;~~Gil15 @i~!!J8il!!Jgjl61"~Gil61!61UJGr6lirr UJITgjI?

(A) 9-
2

(B) 76L
2

(C) 17~
2

(D) 45~
2
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. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open
it at the commencement of the examination. As soon as the signal is received you should tear the right
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions.
This Question Booklet contains 100 questions. Prior to attempting to answer the candidates. are
requested to check whether all the questions are there in series without any omission and ensure there
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Answer all questions. All questions carry equal marks.
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response and mark in your Answer Sheet. In case you 'feel that there are more than one correct .
response, mark the response which you consider the best. In any case, choose ONLYONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.
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questions you are to mark with Ball point pen ONLYONE circle of your choice f?r each question. Select
. one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark
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the correct answer, you have to mark as follows:

@.@@
-8. You should not remove or tear off any sheet from this. Question Booklet. You are not allowed to take

this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
Mter the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You are
allowed to take the Question Booklet with you only after the Examination is over. .

9. The sheet before the last page ofthe.Question Booklet can be used for Rough Work.
10. Failure to comply with any of the above instructions will render you liable to such action or penalty as

the Commission may decide at their discretion. .
11. Inall.matters and in cases of doubt, the English Version is final.
12. Do not tick-mark or mark the answers in the Question Beoklet.
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